-2x+5="7-5x
DO -2x+5x=T74+5 @ -2x-5x=7-5
® -2x-5x=7+5 @ -2x+5x=-7-5

@—2)6—1—5)6:7—5

-2x+5x=7-5
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® 4x-4=3x-4 @ 3(5-2x) =2(3x-5)
@Q(x—i—Z) _5+4x
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@ x=-1

® x=3

bx—4x+4=8-x
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2x+6—-10=4x—-10+4x
6 = 6x
Lx=1
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@ -2x+3 © 2x-1)=2x-2
© 3x+1=5x-2 ® x2-2x—-1=x*-2

@ 2x—-1<x+2

14 @24 @34 @44 54

B

@ -2x+3: gAA

O2x-1)=2x-2: T54
©3x+1=5x-2-2x-3=0: LxpLAA
@x2-2x-1=x*-2, —2x—1=-2: LXEAA
@2x—-1<x+2: 54
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O x+3=2 @ 3(x-1)+7=0

1 1 x
® 3x-5=7 @)0.2x-3 = 05
®2=2-4{1-(2x-7)}

~&B

Ox+3=2,x=-1
@3(x-1)+7=0, 3x-3+7=0, 3x+4:0,x:—§
® ol 12 § H3t ASE A= e
4x—6:3x,4x—3x:6
=6
@ Friol 10 &5t A€ Aoz wert
-30=5x, =30 =5x—2x, —30=3x
Sox=-10
®2=2-4{1-(2x-7)},
1=1-2{1-(2x-7}, 0=-2{1-(2x-7)}
0=1-(2x-7),2x-7=1,2x=38
Lx=4
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S ax-2=x+b0°]

-2

@ a=-1,b

Da=1b=2

@D a=-1,b=2

@azl,b:—Q

®a=2b=-2
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11. 3744 2(x—5)+7=—5x+2(x+11)945117}x:a<>e1uﬂ,‘gl_;5
o kg F3hw?

2(x=5)+7=-5x+2(x+11)
9% — 10 47 = ~5x + 2x + 22

5x = 25
xX=5=a
a_25_5 25
5 a 5 5

=1-5

=4
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B ~

0.1x - 1.6 = —=0.2(0.1x — 1)

0.1x — 1.6 = —=0.02x + 0.2

oFH o] 100 & J5HH

10x — 160 = —2x + 20

10x + 2x = 20 + 160

12x = 180

Sx=15, .a=15

S 2a-1=2x15-1=29 o[t}
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—6+ax=-2x-6
ax+2x=-6+6
(a+2)x=0

a+2=0, a=-2




x+1

x—1
2(x+1)=3(x-1)
2x+2=3x-3
2+3=3x—-2x

T x=25
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x off TR A 5-2(x—1) = -5(x+1) 9] 3¢} %(x—kl) -
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® -3 @ -1 ® 1 @3

X

4

(3-a)

1) 5-2(x=1)=-5(x+1)
5-2x+2=-5x-5
SLx=-4

i) S(xt1)=2-(3-a)
3 4
4(x+1)=3x-12(3-a)
-12(3-a) =0
La=3




